@{ @ & @ * Multiplique decimais por poténcias de dez

Nome: Encontro: Data: Pontuagdo:
3,676 x 10 = 9,206 x 10000 =
2,627 x 100000 = 7,818 x 10000 =
8, 03 x 1000000 = 8,333 x 10 =
3,539 x 100000 = 9,784 x 10 =
1,634 x 100 = 6,634 x 10 =
8, 889 x 100000 = 5,051 x 10 =
6, 866 x 100000 = 6,667 x 10000 =
6,457 x 10 = 4,225 x 1000000 =
3, 152 x 1000000 = 7,921 x 100 =
4,729 x 10000 = 4,16 x 100000 =
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a @ g @ * Multiplique decimais por poténcias de dez

Nome: Encontro: Data: Pontuagio:
3,676 x 10 =36.76 9,206 x 10000 = 92060
2,627 x 100000 = 262700 7,818 x 10000 = 78180
8, 03 x 1000000 = 8030000 8,333 x 10 =83.33
3, 539 x 100000 = 353900 9,784 x 10 =97.84
1,634 x 100 = 163.4 6,634 x 10 = 66.34
8, 889 x 100000 = 888900 5,051 x 10 =50.51
6, 866 x 100000 = 686600 6, 667 x 10000 = 66670
6,457 x 10 = 64.57 4,225 x 1000000 = 4225000
3, 152 x 1000000 = 3152000 7,921 x 100 = 792.1
4,729 x 10000 = 47290 4,16 x 100000 = 416000
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